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Run Type Calib Beam | Beam #of |Live |Decode |Check| GEM Additional Comment
Period | Energy | Current| Event | Time | Status | EnS | Raw
(GeV) | (nA) (M) (%) Data
1 11 5 0-sup no
1 11 5 0-sup no
1 11 10 0-sup no very small run, only two files. Found no description on ELog
1 1.1 8 0-sup no very small run, only three files. Found no description on ELog
1 1.1 10 3.36 66 0-sup no
1 1.1 10 24 66 0-sup no
1 1.1 10 6.2 66 0-sup no
1 1.1 10 5.7 66 0-sup no
1.1 10 1.8 | 90 | o-sup no
1 1.1 10 6 66 0-sup no
1 11 10 6 65 0-sup no
1 11 10 6 65 0-sup no
1.1 10 1.7 | 90 | 0-sup no
1 11 10 5.9 65 0-sup no
1 11 10 5.9 66 0-sup no
1 11 10 5.96 66 0-sup no
Empty Target 11 10 16 90 0-sup no
Empty Chamber 11 10 1.76 90 0-sup no
1 11 10 6 65 0-sup no
1 11 10 5.6 65 0-sup no
1 1.1 10 4.6 65 0-sup no
1 1.1 10 1.6 65 0-sup no end due to beam trip
1 1.1 10 1.8 65 0-sup no end due to APV problem
1 1.1 10 1.6 65 0-sup no frequent beam trip
1 1.1 10 3.38 65 0-sup no
1 11 10 5.7 65 0-sup no
1.1 10 1.6 |925| O-sup no
1 11 10 6.3 66 0-sup no
1 11 10 6.2 65 0-sup no
1 11 10 23 65 0-sup no
L
1122 | Empty Chamber 11 10 15 91 | O-sup | yes yes Beam position at 2HO1 shift early of this run (Y from -6 to -0.5)
1123 | Empty Chamber 1.1 10 15 91 0-sup yes yes
1125 | Empty Chamber 1.1 10 15 91 0-sup yes yes after crystal gain change
1126 | Empty Chamber 1.1 10 1.6 91 0-sup yes yes GEM APV problem appeared in the last 3 mins of the run
1127 Empty Target 11 10 0.6 85 0-sup yes yes
1129 Empty Target 11 10 11 85 0-sup yes yes
1130 Empty Target 1.1 10 0.17 94 0-sup yes yes Elog says calibration study, run list says background run
1135 Empty Target 1.1 10 244 | 90 | O-sup | yes | yes
1136 2 11 10 6.6 63 0-sup yes yes
1137 2 11 10 25 65 0-sup yes yes
1147 | Empty Chamber 11 10 0.3 92 | O-sup | yes yes
1153 Empty Target 11 10 17 90 0-sup yes yes Beam position at 2HO1 shift in the middle of this run (Y from -4.4 to -3)
1154 Empty Target 11 10 16 89 0-sup yes yes
2 11 10 6.4 63 0-sup yes yes
2 11 10 6.4 61 0-sup yes yes
2 11 10 6.54 63 0-sup yes yes
2 1.1 10 7.3 63 0-sup yes yes
Empty Target 1.1 10 2.2 95 0-sup yes yes
1162 Empty Target 1.1 10 0.02 95 0-sup yes yes CODA Error Message: Tl not master
1163 Empty Target 1.1 10 0.65 95 0-sup yes yes
Empty Target 11 10 1.7 90 | O-sup | yes yes Beam position at 2HO1 shift in the middle of this run (X from -1.3 to -1 Y from -4 to -3)
Empty Target 1.1 10 166 | 90 | O-sup | yes | yes
3 11 10 6.5 63 | O-sup | yes | yes
3 1.1 10 6.6 63 0-sup yes yes
3 1.1 10 7.48 62 0-sup yes yes
3 1.1 10 7.18 62 0-sup yes yes
3 1.1 10 6.7 62 0-sup yes yes
3 1.1 10 5.8 62 0-sup yes yes
I
98 | O-sup | yes | yes a few mm shift for BPM 2HO1 for the y coordinate of the beam spot at early stage
91 0-sup yes yes
91 | O-sup | yes | yes
91 | O-sup | yes | yes
91 0-sup yes yes
91 0-sup yes yes
I
I
86 0-sup yes yes
87 0-sup yes yes
: 2 | 97 | Osup | yes | yes
87 0-sup yes yes
87 0-sup yes yes
87 0-sup yes yes cell temperature, pressure mean value shift during the run
Full Target . . 85 0-sup yes yes
Empty Target 1.1 15 33 97 0-sup yes yes
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5 1.1 15 13.2 85 0-sup yes yes
5 1.1 15 1.2 87 0-sup yes yes end due to APV problem
5 1.1 15 5 85 0-sup yes yes One of GEM chamber has trimmed
5 1.1 15 13.7 86 0-sup yes yes
5 11 15 14.1 87 0-sup yes yes
5 11 15 14 87 0-sup yes yes
1.1 15 31 | 97 | Osup | yes | yes
5 1.1 15 13.7 87 0-sup yes yes cell temperature not very flat, target EPCIS position becomes 0 after this run (see Elog)
5 11 15 137 | 86 | O-sup | yes | yes
5 11 15 135 86 0-sup yes yes
5 11 15 3.04 86 0-sup yes yes
5 1.1 15 14.57 85 0-sup yes yes
5 11 15 29 | 98 | O-sup | yes | yes
5 1.1 15 13.9 87 0-sup yes yes
5 1.1 15 13.9 86 0-sup yes yes
5 1.1 15 13.9 85 0-sup yes yes
5 1.1 15 13.9 87 0-sup yes yes
1.1 15 3.2 97 0-sup yes yes
Empty Target 11 15 3.1 97 0-sup yes yes
5 11 15 13.8 | 85 | O-sup | yes | yes
5 11 15 13.8 | 85 | O-sup | yes | yes
5 11 15 13.9 85 0-sup yes yes
5 11 15 14.1 86 0-sup yes yes
11 15 33 | 97 | Osup | yes | vyes
5 1.1 15 136 | 86 | O-sup | yes | yes
Empty Target 11 15 3.27 97 0-sup yes yes
Empty Target 11 15 3.1 97 0-sup yes yes
5 11 15 9.9 86 0-sup yes yes
1.1 15 29 97 | O-sup | yes | yes
Empty Target 1.1 15 3.1 97 0-sup yes yes
5 1.1 15 13.1 86 0-sup yes yes
5 1.1 15 3.1 86 0-sup yes yes end run due to thunder
5 1.1 15 53 83 0-sup yes yes stopped due to storm
5 11 15 12.3 86 0-sup yes yes
5 11 15 14.4 86 0-sup yes yes
5 11 15 13.9 86 0-sup yes yes
1.1 15 33 | 97 | Osup | yes | yes
5 11 15 143 | 86 | O-sup | yes | yes
5 1.1 15 20 84 0-sup yes yes
11 15 22 97 | O-sup | yes yes
11 1 24.2 70 0-sup yes yes
]
6 2.2 15 3.49 98 0-sup yes yes
22 15 3.49 99 | O-sup | yes yes EPCIS cell position information comes back
6 2.2 20 0.71 95 0-sup yes yes short and unstable production run
6 2.2 24 5.58 95 0-sup yes yes obvious mean beam position shift (2C24) at the second half of the run
6 2.2 25 571 | 95 | O-sup | yes | yes
6 2.2 25 6 95 0-sup yes yes beam current increase by 2nA (starts from 23nA) during the run
6 2.2 25 6.99 95 | O-sup | yes yes mean value of beam current not very stable
22 25 1.07 | 99 | O-sup | yes | vyes
1382 6 2.2 25 5.6 95 0-sup yes yes
1383 6 22 25 5.6 95 0-sup yes yes
1384 6 22 25 5.8 95 0-sup yes yes
1385 6 2.2 25 5.6 94 0-sup yes yes
1386 22 25 0.2 99 | O-sup | yes | yes
1387 Empty Target 2.2 25 0.2 99 0-sup yes yes
1394 6 2.2 57 12.27 89 0-sup yes yes
1395 6 2.2 57 11.56 89 0-sup yes yes
1396 6 2.2 55 12.24 89 0-sup yes yes
1397 6 2.2 55 9.8 88 0-sup yes yes
1399 22 55 22 | 98 | Osup | yes | yes
6 2.2 55 11.8 89 0-sup yes yes
6 2.2 55 115 89 0-sup yes yes
6 2.2 55 10.7 89 0-sup yes yes cell temperature, pressure doesn't seem to be very flat
6 2.2 55 11.6 | 89 | O-sup | yes | yes
I
Empty Target 2.2 55 1.16 97 0-sup yes yes
Empty Target 2.2 55 1.23 97 0-sup yes yes don't have EPICS event before 200k
7 2.2 55 11.15 89 0-sup yes yes
7 2.2 55 11.3 89 0-sup yes yes
7 2.2 55 11.7 89 0-sup yes yes
7 2.2 55 11.7 89 0-sup yes yes
Empty Target 2.2 55 2 98 0-sup yes yes
Empty Target 2.2 55 2 98 0-sup yes yes Run was ended because one of the APV had problem.
7 2.2 55 4.2 89 0-sup yes yes APV has problem again and there is high voltage drift.
7 2.2 55 11 89 | O-sup | yes | yes
7 2.2 55 12 89 0-sup yes yes
7 2.2 55 10.7 89 0-sup yes yes
7 2.2 55 11.4 89 0-sup yes yes
2.2 55 2 98 | O-sup | yes | yes
7 2.2 55 10.7 89 0-sup yes yes
7 2.2 55 10.8 89 0-sup yes yes
7 2.2 55 0.76 89 0-sup yes yes No beam in last 5 minutes.
7 2.2 55 11.1 89 0-sup yes yes
7 2.2 55 11.5 89 0-sup yes yes
Empty Target 2.2 55 1.9 98 0-sup yes yes
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Short run, ~ 3 mins only. Stopped to take empty cell only run

Run ended 10mins early because beam trip more than 6mins.

Run stop 12 min earlier as beam was becoming unstable

Frequent beam trip (~every 20 min)

(bad run)ended due to the beam off

serious live time drops for half of the run
serious live time drops for half of the run

serious live time drops for half of the run

serious live time drops for most of the run

serious live time drops for half of the run
end due to APV problem

too few events to count live time

no beam for most of the run
target cell T, P and target thickness not very flat

Beam tripped off so we stopped this run after 19 mins

serious live time drops for most of the run
Beam down for 7 mins, therefore we stopped the run early (50 mins)

last run



